
C4                December 2018

Clutch Jam (Tangle) Mechanism

 Index  Package / Order
 No. Part No. Reference    Description 

 1.   55-050638-004  Pivot Rod 
 2.   47-075435-004  Nylon Bushing
 3.   55-050613-004  Clutch Jam Cam
 4.   55-050636-004  Clutch Spring
 5.   55-143049-000  Jam Switch 
 6.   55-058210-000  Clutch Cover (Black)
 7.   11-051069-001  Screw Hex Cap (M5 x 12 mm) 
 8.   11-051028-000  Hex Hd. Cap Screw (M6 x 25 mm)  
 9.   11-051702-001  Hex Nut (M6) 
 10.  11-052020-001  Flat Washer (5.3 mm x 12 mm x 1 mm)
 11.  11-052214-001  Machine Screw (M3 x 20 mm) 
 12.  11-052058-000  Flat Washer (3.2 mm x 9 mm x .8 mm)
 13.  11-052008-001  Flat Washer (6.4 mm x 12 mm x 1.6 mm) 
 14.  11-051743-001  Self Locking Hex Nut (M6) 
 15.  11-051746-001  Self Locking Hex Nut (M3) 
 16.  11-052003-001  Flat Washer (8.4 mm x 16 mm x 1.6 mm)
 17.  11-053478-001 47-861050-000  Speed Nut (Quick Lock #17), Pkg Qty - 10
 18.  11-052681-001  Spring Pin (3 mm x 16 mm) 

 



December 2018           C5 

Clutch Jam (Tangle) Mechanism


